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= 1 261, 142, 584
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= 1 196, 464, 464
E¥LT
= 1 2, 394, 095
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= 1 566, 100
MR L +wh
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= 1 203, 715
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= 1 324, 235
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= 1 107, 445
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= 1 112, 065, 819
ST HTHL Hift 1500mm HiE GREHE) 34
m
(1)
i 24 4,124, 933 98, 998, 392
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5m
(2)
i 2 1,617, 098 3, 234, 196
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m
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m
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R (ST iR +wp CEBE- ERRY L& T)
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PR 22 A ¢ 175
(1)
m 23 1, 090 25,070
PR 22 A ¢ 150
(2)
m 5 928 4, 640
AR F=<40kN/m2[t =120cm]
(1)
= 1 140, 790
AR 40kN/m2<f =80kN/m2[120<t =250c
m]
(2)
= 1 224, 200
pies oo S A
= 1 7, 352, 930
H HiAR IR VAR (30f538 1) t=20
m2 29 4,224 122, 496
1EZKIR FF200 X 5
m 10 2,643 26, 430
V=it 6030
m 20 4, 250 85, 000
Bt JIS H 2202 &9 HdiE &b
600X 400X 13
bi'e 4 153, 261 613, 044
i BT
= 1 8,132, 371
[
= 1 8,132, 371
RS AL W EVERE 2.9~3m ¥R 150kg/
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m3 1,493 5, 447 8,132, 371
Bkt 1
= 1 8,616, 214
E¥LT
= 1 469, 572

[ Lz B A T R i 5




NAWA

il

£

THXy « T - FER - 51 B % FREAAL K B G EHAm & FZ (BESM
RE +w5
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IR L +wh
= 1 267, 000
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= 1 72,432
= 1 8, 146, 642
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HEE
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e B L L
= 1 43, 495
SRR BT TAT7WMEEERR 15emEl
m 4 628.9 2,515
RO TAT7WMEHEERR SHEERRE 4c m
m2 75 546. 4 40, 980
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= 1 10, 812
E TAT 7k
m3 3 1,662 4,986
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m3 3 1,942 5, 826
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= 1 47, 875, 228
THAER T
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1) TwD A7 vhyh PR B S,
000m3 A
m3 1, 400 296. 6 415, 240
THEAERE L 4. omPd b
m3 210 1,835 385, 350
HHDF) RC40 ¥ 100mm
m2 1, 280 590. 4 755, 712
- 8F - B L
= 1 41, 723, 526
SRR TR SERRER & 9m #R%
WETIAE 8.2m FHIHFM Gk
(AHRE) £ 8.2m
e 122 162, 811 19, 862, 942
S RAR IR SERIRRARRE & 8m #R
WETIAE 7.2m FHISREG K
(HhE v - BEEMTE) £ 7.2m
e 112 125, 896 14, 100, 352
R TR SEHERRIER S 6.5m
RKWATAR 6m ERRMG |k
(HETY) £ 6m
e 74 104, 868 7, 760, 232
TEST-V #5 1T
= 1 1, 342,970
VESEY-N e fis
= 1 1, 342,970
RmE T
= 1 3, 252, 430
R EE B Bf - B
= 1 3, 252, 430
[EEPEIE T ¢
= 1 261, 142, 584
B
= 1 28, 355, 892
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= 1 7,960, 797
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= 1 4, 939, 449
RN T PN -
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= 1 53, 995
A e AR H R
= 1 13, 406
BGREET (K3 L)
= 1 2,088, 178
HIBGERE (FE L)
= 1 20, 395, 095
Wi
= 1 289, 498, 476
B PR
= 1 76, 425, 132
T AT
= 1 365, 923, 608
— R R
= 1 51, 776, 392
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= 1 417, 700, 000
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